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Q. Paper : |l (Objective Type) PAPER CODE = 8706 (J/’U:‘)/’ )11 : ,;/?,.;”r
Time Allowed : 30 Minutes [/HQ’/ZKZ 3 o 30 0 =
Maximum Marks : 20 20 /"gf
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Receipts and payment account is summary of : : ‘;_,pu&:u%z? bmiu::'r‘; 1-1
Trial balance d/ul;"f C(’, T (B) Cash book VC@/ S (A)
Profit and loss account J;u’aiuuﬁ,é" (D) Balance sheet JJ&/& (C)

The value of asset after its useful/life : : ‘Lan_'wf ML&)JW‘JBU/;‘W 2

Received valué 7 =4 045 s (B) Replacement valuesed §Ux (A)
Auction value J(.;AEJ(U: (D) Residual value :’/.:u:f.d//‘l/ (C)

The excess of assets over liabilities as shown by : ‘A.t‘/;zu;?unugjcca(ﬁ’::«lgi&’/’uf ;«U‘val;’f 3
statement of affair represents :

Gross loss ul.-ﬁ;r(} (D)  Gross profit grb (C)y .~ _Capital b (B) Net profit zj’u" G (A)
Del Credere commission is paid to : : g.t'tptﬁ:lﬂ//é/vj 3|4

Debtors :CDJ } (D) Creditor /a’}gf ; (C) Consignee :’:JU/ 7 (B)  Consigner )/g)/ 7 (A)

A statement of assets and liabilities and capital which : g.bth(o/’?f Bl sl g 1903 ‘awemﬂgc_b@;ﬁ 5
is prepared from incomplete record is called :

Financial statement v &L;‘l. (B) Balance sheet J{‘J& (A)
Statement of affairs A K o (D) Bank statement st (..4@ ©

All expenses paid by consignor are treated as : U Z.m?‘uc‘:. t‘ﬁ:U/ 24 a(g’f ’(V" 6
Direct expenses c{g?/; etz (B)  Recurring expenses =LA (A)

Selling expenses algljlz:&;) (D) Indirect expenses z?_/}fb’t, (C)

Main source of income of non-trading concern is : L e b TR | T

Sales of assets .:55/'6/;"9" (D) Sales of goods :»;/d/;“b?l (C) Donation .4# (B) Subscription s£2 (A)

To write off bad debts always effects : L LI E L b8

Bill payable 4 bliezls (D) Purchaser £tx/ (C) Creditors 47/ (B) Debtors £/ f/ (A)

Commission in consignment is calculated on : ' : ‘ng(kﬂfﬁfu:_w’u/ 9
Sales 4:45;/. (D) Profit {Cv (©) Purchases 447 (B) Stock {_oﬂ' 3 (A)

( é},l JA)
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Non-trading concerns are géverned by : : %:Z.LgLUgg/biJ,@{ 10
Share holders /’:Jﬂ (B) Investors g gl s (A)
Members 7 (D) Promoters gL (C)
For partnership interest on capital is : Py Ll /@CL»K@/’/& 11
Profit ("j (D) Expenses 27 (C) Loss W& (B) Income 47 (A)
The depreciation is charged for : : gabd/b/ﬁgd//)r/ 12
Repair of asset g.://df‘: ¢ (B) Accident of asset ég/;":blfﬁ'?’ (A)
Theft of asset #/ dji,‘}/;‘(fl (D) Use of asset a{[ Je1Z 21 (C)
A company is an artificial person created by : : 4‘-t‘lgl[g}.'.g:2§_ f Jr%guf 13
Contract cr.*z..r /‘f (D) Law <46 (C) Agreement < s4b+ (B) Promise <43 (A)
For partnership interest 0;1 drawings is : Ceary D@ b/,é;CguKLdm.:/ V‘ 14
Liability $/bs-3 (D) Expenses :«(g’j 1 (C) Assets 2_5’ (B) Income 8*7 (A)
A company can be liquidated under the provisions of companies : +C5@gfci£ﬁ5; TLG’-’C/”G K(j'{ 15
ordinance :
1932 (D) 2017 (C) 1962 (B) 1913 (A)
Depreciation is charged on book value represents : g /"_8//7 lﬁuc‘_a(gd/(ﬁ’{c‘z L}CCZJJ//. 16
Straight line method & /’( g...““/ & (B) Reducing balance method 3 /’Ku’{'pgu{ (A)
Sinking fund method 4 4§ (D)  Depletion method AT (C)
Reserves are transferred to : : ﬁ;blggﬂjz; 17
Junior partner :':by/’fﬁ (B) New partner Doz (A)
Remaining partners /ubb,a?o}‘.&@ (D) Old partner :Cb,.f?d'—’; ©)
A document through which pubilic is invited to ‘481}{ “46: :oi:J dj'ﬁj&ﬂu@,flﬁ@/)&&’{!?)” 18
purchase share of company is called :
Prospectus Lf‘g'/’{ (A)
Article of association ﬁ"u’ﬂldfg}g!’ (B)
Memorandum of association gﬁ"u’ﬂ’_} Trlzm.’ (®))
Certificate of incorporation ¢Skt s Ko /7 Us sk (D)
Partnership agreement in written form is called : i ‘cb%{bﬂﬁq/&uﬁ Sy f“ 19
Partnership deed o,g-bfG(l/"' (D)  Formation ﬁ (C) Contract ..t /“l (B) Prospectus u'%{ (A)
Company works on its : 4;.&/7’(&( 20

Share holders name c(téwﬂ:u"i (B)

Debenture holder name Lrtﬁjbaw (D)

Own name

Directors name c_(bLJ}{ﬂS (C)

=rtet (A)
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Paper : Il (Essay Type) GAZENTT : 2y
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Time Allowed : 2.30 hours L # /2 /2 230 &
Maximum Marks : 80 80 : /J(

( PART-1 Jjl 2)
10 2. Write short answers to any Five (5) questions: oL AT 4 /"' L <y (5) é& & Jf -2

(i) Define statement of affairs. -Z”: - /‘.'.L;:.aﬂtlm/b’f Q)
(i) Describe why fresh capital is deducted from closing capital? ?c‘_t'('ptfw‘u::.(c,t S G’?’l:;t /BW (i)
(iii) State the main purpose of non-trading concerns. -é ugﬁ"‘/fu”bk}/?}f (iii)

(iv) Differentiate between trading concerns and non-trading -Eff Sk SV SIEL NSNS (iv)

concerns.
(v) Write four characteristics of joint stock company. -Efi'/“/ fcy.l:lr”/ t{J 6’[ J:,L /f /“-"/ (v)
(vi) Narrate what is a holding company? ?c‘:.:'/.bfg&‘:fﬂnf ’j&’ug (vi)

(vii) Distinguish between public limited company and -é L’)Lﬂj/.d: L}g}.ﬁj:.cf i{/ﬂ(f&k{.& (vii)

private limited company.

(viii) Define underwriter. A -é - /.’.J % (viii)

10 3. Write short answers to any Five (5) questions: - é A 4 /"’ L =iy (5) ég e éf -3

(i) Write down two causes of depreciation on fixed assets. -2:’:/”//;&/’::5 J»"/’{:ﬂ (g;"HJ‘“V (i
(i) Define scrap value. -2{4/7&@2&:% (i)
(iii) Define consignment. E S i
(iv) What is difference between consignment and sales? ?c‘..J/'gfw&;/'»lJ /JL (iv)
(V) Explain the term over-riding commission. -’c"g:) U)Jdﬁzf .f Xlist (V)
(vi) Write two merits of registration of firm. ~éﬂ;’»é ﬁ PJJ"/ (vi)
(vii) Define partnership agreement. -’é - /."Ja,gtv G( V‘ (vii)
(vili) Who is active partner? tebrulibope  (vil)
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LH£ /)/ ( PART-1I (u,.ﬂ?)
Note : Attempt any THREE of the following questions. -écakb?&dﬁ.i/c,uﬁamrd. s 1 &9
D el - eIl pui b bbby -4

4. Musa keeps his books under single entry system. His financial position is as under :

20

Particulars _.:«Uv.ff January 1, 2021 (Rs.) December 31, 2021 (Rs.)
Cash S 8000/- 10000/-
Stock ¥4 20000/- 25000/
Debtors S 7000/- 5000/-
Creditors Ny 16000/- 20000/-
Furniture Ap 10000/- 15000/-
Building = 60000/- 60000/-
uf»’/'d/cutf -&@d(./gfd;)ﬂ5000/-/)’('_béé’.LJW’JU%USOOO/—L&}"JVUDM : :«L)"GU’
~esilar 3100 A

_Zpusd o

During the year, Musa withdrew cash Rs. 5000/- and invested fresh capital of
Rs.15000/-. Depreciation,of building is @ 10% p.a.

Additional information :

Required : Prepare profit and loss statement.

20 ~= LW EULoisusd ik S -5

5. Receipts and payments account of Salman club is following :

Receipts / (U M Payments / L2 Rs. / j:
Membership fee ‘,fi,}/ 33530/- Closing balance  w( (%1 6000/-
Donations < Lk# 18450- Rent A 800/-
Misc. receipts UL/ 1950/- Repair =lp 2000/-
Salaries Vi 10000/-
Subscription s42 4500/- Machinery g 6000/-
Sale of furniture _w:/d/é/ 2370/- Misc. expenses &?'j’u“)} 36000/-
Total : 60800/- Total : 60800/-
Adjustments : Pt S}
(a) Subscription receivable Rs.2000/- -‘LJ!")(}G’%_UZOOO/-%A:?, ()
(b) Outstanding salaries Rs.1500/- _b’g}l?uj Lf 4;3115001-87‘ (g)
(c) Depreciation on machinery @ 10% p.a. -44102 Ul/dir/"{d/?' @)

31 December, 2012.
(e se)

S b A T 2012 531K Sl © ol

Required : Prepare income and expenditure account of Salman Club for the year ended




(3) LHL /222
20 G Lattdol LSy cuFunbe A TGS eI e 2,250000 Lssy 2l Sl -6

Y 20000/-6"Juf¢ﬁ:dwf£u’ dndmfeesic SAS IS AS Lt ~ LWL et )
Ll gl fwwfwfw5/u>,/fwmz.¢.u500/-.»:;!&,10’/ s Sespt

. -ttt

& SIS i UM EE e g b3l S - ol
6. Mr Sarwar of Rawalpindi consigned goods valued at Rs. 25000/- to Mr. Munir of Karachi. Consignor
paid Rs. 1140/- for freight and insurance. After one month, he received account sales intimating that

half the consignment was sold at Rs. 20000/-. The expenses incurred by him were Rs.500/- and
commission was allowed 5% on sales. Consignee settled his account by cheque.

Required : Show the journal entries and also prepare consignment account and consignee's
account in the beoks of consignor.

20 U u‘a_um/-u“’ 3« 80000/-9 el ot L g 9,800, 000/-5% i(j'{ ,wubpu -7
Wt OS2 250001 1f 2 L Siehpped S 20000 2021657 -die
LSS s Sert$i f” 20600 520212 - ufd:/uél, Yl L e WP s Ser) 3195000

et E AU ARE TS F b i
7. Sarim Khan and Company was formed with authorised capital of Rs.800,000/-, divided into 80,000 shares
of Rs. 10/- each. On 1st January, 2021 the'.company issued 20000 shares at par value to the public for

subscription. The public applied for 25000 shares. _No allotment was made to 5000 applications and
refunded the money. On 1st August,2021, 20000 shares were allotted to the applicants.

Required : Pass journal entries in the book of Sarim Khan and company and also prepare
balance sheet.

20 &/ @/’44//5;»10,0001-/,14_54/’d,?‘&;u‘zo,oom-iizo1 40’1;2{ A 8
Lo B A e oL a0 UG

8. Umair purchased machinery for Rs.40,000/- on 1st January, 2014 and Rs:10,000/- was spent on
its repair.

Required : Prepare machinery A/c for 5 years if depreciation is charged @ 10% p.a. by
reducing balance method.

20 O sube &= & 2/65000/-130¢- 3125000/ " Pl b K U2 SN /._( s -9
-b’;w?"‘c,uﬂd/ 2 1&»& -hw/umwuy»,uv,wsw,t \ — e T F 244 2,3000/-
-;!ﬁé.zidw'dtm_msom- &8 81e2120000/-& o SLU dw,.uaooow-z_r/ulwédv
_ghfLU/LLL/ﬁyfj‘m:lchjuﬁ;gfv Dk
9. Muneeb and Mustafa are partners in a partnership business with capital Rs. 125000/- and Rs.65000/-
respectively. According to agreement Muneeb is entitled to salary of Rs.3000/- per month. Interest on
capital is allowed at 5% p.a. to both partners. Remaining profit will be distributed in the ratio of 2:1.

During the year the firm earned a profit of Rs.80000/-. Muneeb withdrew Rs.20000/- and Mustafa
withdrew Rs.7500/- for personal use.

Required : Prepare profit and loss appropriation account and also show capital
accounts of partners.
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